EXHIBIT 7

MPWMD - Rationing Office Systems Needs

Estimate for Workstation for Rationing Office for 15 Users Custom built for performance and easy maintenance

Document #: 20070904-1 Date: September 4, 2007

Part	Each	Unit	Quantity	Extended
Asus P5K-V Core 2 Quad/ Intel G33/ DDR2-1066/ CrossFire/ IEEE1394a/ A&V&GbE/ ATX Motherboard	1	\$1,270.00	15	\$19,050.00
Intel Core 2 Duo Processor E6320 1.86GHz 1066MHz 4MB LGA775 CPU, Retail	1 .	•	15	
Antec Sonata III 500W Quiet Super Mini Tower Case (Piano Black)	1		15	
STT DDR2-667 2GB/128x8 Micron Chip Memory	2		30	
Seagate ST3500630AS 500GB SATA2 7200rpm 16MB Hard Drive	1		15	
Floppy/Card Reader Combo	1		15	
Lite-On LH-20A1H-185 LightScribe 20X DVD+/-RW Drive (Black), Bulk w/o Software	1		15	
Lite-On LH-16D1P-185 16X DVD-ROM Drive (Black), Bulk w/o Software	1		15	
Speaker System (Black)	1		15	
Microsoft Wireless Laser Desktop 6000 Set (Keyboard + Mouse),	1	1	15	
Microsoft Windows Vista Business (1-Pack DVD), OEM	. 1	*	15	
20" LCD monitors	. 1	\$289.00	. 15	\$4,335.00
Software Microsoft Office Small Business 2007 Win32 MLK, OEM (1-Pack)	1	\$275.00	15	\$4,125.00
Optional Items				
Seagate ST3500630AS 500GB SATA2 7200rpm 16MB Hard Drive	1	\$155.00	15	\$2,325.00
Adaptec 1430SA SATA2 RAID 4-Port Host Controller Kit (to provide harddisk redundancy)	1	\$125.00	15	\$1,875.00
iMicro IMV6 1.3 Megapixels USB Webcam w/ Light	1	\$25.00	15	\$375.00
GIGABYTE nVidia GeForce 8500GT 512MB DVI/HDCP PCI-Express Video Card	1	\$130.00	15	\$1,950.00
Taxable Total				\$34,035.00
Tax 7.25%	0.0725			\$2,467.54
Shipping/delivery (LCD 300.00 + computers 50.00)	1 \$	75.00	15	\$1,125.00
Recycling FEE for 15" to less than 35" for LCD's	1 \$	8.00	15	\$120.00
Customization/installation/deployment costs for labor	4	\$80,00	60	\$4,800.00
TOTAL				\$42,547,54

NOTE:

1) Can build redundancy using RAID controller for high availability and uptime
2) For better video quality can add the 512MB video card
3) Office (word, excel, ppt etc) package can be purchased separately
4) These are only estimated costs not quotes to purchase

MPWMD - File/Application server

Estimate for Server for Rationing Office This is small server that could be used for applications and file storage locally Will need a large capacity server for document scanning, imaging etc

Document #: 20070904-2 Date: September 4, 2007

Part	QTY	Unit	Extended
Asus P5K-V Core 2 Quad/ Intel G33/ DDR2-1066/ CrossFire/ IEEE1394a/ A&V&GbE/ ATX Motherboard	1	\$1,600.00	\$1,600.00
Intel Core 2 Duo Processor E6320 1.86GHz 1066MHz 4MB LGA775 CPU, Retail	1		
Antec Sonata III 500W Quiet Super Mini Tower Case (Piano Black)	1		
STT DDR2-667 2GB/128x8 Micron Chip Memory	2		
Seagate ST3500630AS 500GB SATA2 7200rpm 16MB Hard Drive	. 3		
Floppy/Card Reader Combo	1		
Lite-On LH-20A1H-185 LightScribe 20X DVD+/-RW Drive (Black), Bulk w/o Software	1		
Lite-On LH-16D1P-185 16X DVD-ROM Drive (Black), Bulk w/o Software	1		
Adaptec 1430SA SATA2 RAID 4-Port Host Controller Kit	1.		
Microsoft Wireless Laser Desktop 6000 Set (Keyboard + Mouse),	. 1		
Optional Items			
GIGABYTE nVidia GeForce 8500GT 512MB DVI/HDCP PCI-Express Video Card	1	\$280.00	\$280.00
Microsoft Windows Server 2003 R2 Standard Edition w/SP2	1	\$800.00	\$800.00
20" LCD monitor	1	\$289.00	\$289.00
Taxable Total			\$2,969.00
Estimated Tax 7.25%	0.0725		\$215.25
Shipping/delivery	1	\$ 75.00	\$75.00
Recycling FEE for 15" to less than 35" for LCD's	1	\$ 8.00	\$8.00
Customization/installation/deployment costs for labor	4	\$80.00	\$320.00
TOTAL			\$3,587.25

NOTE:

Windows 2003 server R2
 Has built-in redundancy using RAID controller for high availability and uptime + 1 hot spare HDD
 These are only estimated costs not quotes to purchase

MPWMD - Services

Document #: 20070904-7

Date:

September 4, 2007

Estimate for Internet connection and setup of Wide Area Network

Part		Each	Unit	Monthly	Extended
Internet service provider (ISP)	re-occurring	1	\$500.00	12.00	\$6,000.00
Phone service provider (PRI)	re-occurring	1	\$500.00	12.00	\$6,000.00
Network support (8hrs/week = 32 hrs/month @80/hr)	re-occurring	1	\$80.00	32.00	\$2,560.00
Cabling for computer and equipment per 1 cable drop	one-time	1	\$120.00	25.00	\$3,000.00
Phone Cabling per 1 cable drop	one-time	1	\$120.00	25.00	\$3,000.00

NON-Taxable Total Estimated Tax 7.25%	0.0725	no TAX	\$20,560.00 \$0.00
Shipping/delivery	1	\$ 250.00	\$250.00
Customization/installation/deployment costs for labor	1	\$0.00	\$0.00
TOTAL			\$20,810.00

NOTE

¹⁾ Services needed to connect to main office

²⁾ add some contingency in case some other needs arise

MPWMD - Scanning/Imaging server

Estimate for Server for Rationing Office
This is a large server that could be used for scanning and imaging for storage locally

Document #: 20070904-3

Date:

September 4, 2007

Part	QTY	Unit	Extended
Supermicro X7DA3-B Dual LGA 771 Xeon/ 5000X/ DDR2/ PCI-E/ 2GbE Server Motherboard	. 1	\$4,600.00	\$4,600.00
Supermicro CSE-743T-645/B 4U Rackmount 645W Server Chassis(Black)	1	,	Ţ.,000.00
Supermicro SNK-P0018 2U+ Passive Heatsink For LGA771	2		
ntel Xeon Dual-Core 5110 1.6GHz 1066MHz 771pin 4MB CPU, Retail	2		
TT D2-667 2GB/128x4 ECC Samsung Chip FB-DIMM Server Memory	2		
Seagate ST3500630AS 500GB SATA2 7200rpm 16MB Hard Drive	8		
Floppy Drive	. 1		
ite-On LH-20A1H-185 LightScribe 20X DVD+/-RW Drive (Black), Bulk w/o Software	1		
ite-On LH-16D1P-185 16X DVD-ROM Drive (Black), Bulk w/o Software	1		
licrosoft Wireless Laser Desktop 6000 Set (Keyboard + Mouse),	.1		
Microsoft Windows Server 2003 R2 Standard Edition w/SP2	1		
Super Talent INT-AIN1-C All-in-One USB2.0 Internal Card Reader (Color Bezel)	1		
Adaptec 2820SA SATA2 RAID 8-Port 256MB Controller Card	1		•
20" LCD monitor	1 .	\$289.00	\$289.00
Taxable Total			\$4,889.00
Estimated Tax 7.25%	0.0725		\$354.45
Shipping/delivery for server and LCD	1 \$	150.00	\$150.00
Recycling FEE for 15" to less than 35" for LCD	1 \$	8.00	\$8.00
Customization/installation/deployment costs for labor	4	\$80.00	\$320.00
TOTAL	, , , , , , , , , , , , , , , , , , , 		\$5,721.45

NOTE

1) This server could also be use in-lieu of the small File-Server
2) These are only estimated costs not quotes to purchase

MPWMD - Peripherals

Estimate for peripheral and other equipment for Rationing Office

Document #: 20070904-4

Date:

September 4, 2007

Part	QTY	Unit	Extended
SonicWall Firewall	1	\$750.00	\$750.00
1GB switches	2	\$300.00	\$600.00
1 feet Cat5 cables	30	\$2.50	\$75.00
2 feet cat5 cables	30	\$3.50	\$105.00
3 feet cat5 cables	30	\$5.00	\$150.00
7 feet Cat5 cables	30	\$10.00	\$300.00
15 feet cat5 cables	30	\$12.00	\$360.00
HP LaserJet 4350tn Printer	1	\$1,800.00	\$1,800.00
HP Color LaserJet 4700dtn Printer	1	\$2,500.00	\$2,500.00

Taxable Total Estimated Tax 7.25%	0.0725		\$6,640.00 \$481.40
Shipping/delivery	1	\$ 150.00	\$150.00
Network Installation/deployment costs for labor for 3 days	24	\$120.00	\$2,880.00
TOTAL			\$10,151.40

NOTE

¹⁾ This equipment is needed to setup the network

²⁾ These are only estimated costs not quotes to purchase

³⁾ need to put estimated costs to get assistance for 3-days at a minimum for network rollout

MPWMD - MFP system

Estimate for MFP system for Rationing Office This could be used for scanning, imaging, printing and faxing locally in the office **Document 20070904-5** Date: September 4, 2007

Part	отү	Unit	Extended
Canon Image RUNNER C3170	1	\$10,000.00	\$10,000.00
Duplexing auto Doc Feeder L1	1	incl	•
Cassette Feeding Unit Y3	1	incl	
Stapling Fisher P1	1	incl	
Super G3 Fax Board	1	incl	
Copy Tray J1	1	incl	
PS driver	1	\$1,500.00	\$1,500.00

Taxable Total Estimated Tax 7.25%	0.0725		\$11,500.00 \$833.75
Shipping/delivery	1	\$ 175.00	\$175.00
Misc costs for deployment	1	\$ 650.00	\$650.00
Customization/installation/deployment costs for labor	4	\$80.00	\$320.00
TOTAL		 ***************************************	\$13,478.75

¹⁾ This MFP system has been deployed at other small offices and works very well
2) These are only estimated costs not quotes to purchase

MPWMD - Phone system

Estimate for Phone system for Rationing Office for 15 users and 1 console

Document 20070904-6

Date: September 4, 2007

Part		QTY	Unit Exte	nded
PBX needed		. 1	N/A	
phone console		1	N/A	
User Phones		15	N/A	
Cabling 15 phones and the incoming phone service	•	1	N/A	

Taxable Total Estimated Tax 7.25%	0.0725		\$0.00 \$0.00
Shipping/delivery	1	\$ -	\$0.00
Misc costs for deployment	=	\$ -	\$0.00
Customization/installation/deployment costs for labor	1	\$0.00	\$0.00
TOTAL		-	\$0.00

NOTE

1) Need to look into what phone systems are avilable for economical costs

2) There are services that are available for a monthly re-occuring cost. This could get very expensive

3) Need to look into the VOIP (voice over IP) and use the internet connection for the phones also